8 7 6 4 3 2 1
BOM Table
ITEM NO.|PART NUMBER Rev. Description Material |Color|QTY.
1 WQ-42S-02 - Hinged Nema Enclosure-Outdoor Use 1
N, P, SR 1.1 WQ-50L-01 -01 LATCH ASSEMBLY - 2
rr\"j;nri'r—m—]—;"l'r———'r"rrr———rlv-lj——e\-x_f’_?:r:f-—rlv-i—;———j-i'lf-r———rrrr—m—rp&!r‘&,"r\l 1.2 WQ-PIN-01 - HINGE PIN - 2
L bod ke b ke ke ke b i 13 | WQ-42B-02 - BASE GFR10/PC|GRAY] 1
{ { 1.4 WQ-42C-02 - COVER W/GASKET PC GRAY| 1
LN "noo 2 |SCREWS-025-002| - HARDWARE KIT 1
| = E 2.1 | SCREWS-025 - [M4X0.7 x Bmm CROSS TRUSS HEAD SCREW 2
|
| |
} N /S :
. i 5
I _|‘:l+| r _|‘:I+1 |
| - e |
L 1 1 Il ]
T = 1 T s s e oy oy o s = =wmas
e o e o
o w
B -y ~—{3.679 )——
|
! ~—3.399 |
”—D_ -'=—:—__ Y {11 . ‘ﬂ: d.—:—:- - @ 92,00 S 9] -OO
A e EETEEET T :._T.::4—..::.—...:::u—_::.:::.T.|::f::ﬁ.::n:::;:qz::n::a:{jt Fe Tt T EEE = YA L 7 7
7 A i 3 3 %
A :E::: (3 (o) (v A | li & r’q ‘/‘
r ’ r . 1IN TN - TN “H
|| g Y AN Y AN 5 AN AN RN Y e e ! i \ )
=] i i [ I !
I | i .
::T | %o ﬂ: } H 1 /{
1 @&j;__ __ __ RN L __:35:”& -~ 1] il a_ cHi
SN N G WL S | (3.530) & @sao0s)
4331 |f Wom |l e }
' i w0 B '
St - - N - - - - e -
ul - o) ‘o) o) & (o) {o) (o) ~ |l . N ==
_ufl on - - - N 54 -/ - - Coy | | 1 Sy
gl 2 Wil =
- -'\t:—L::‘l 1 U L = t":: ——————————————— - | /)
T Ei___ !
| SECTION B-B
- ; 10.236 =

WQ-42-02
UL LISTED: UL508-4X

785 SERVICE TEMP: -40°C to 95°C
FLAME RATING: 5VA
} : 8.202 Outdoor Suitability: UL746C F1
| : 984 TYP., —f=— @ .380 TYP.
(4.003) | ! & 138 TYP
| |
3.140 | | 2X INSERT: M4X0.7 = 138 )\ -]
IR T | >x \
i - - I !
| | =~ O
| C7mn momo Mmoo Mmoo om M (T | (@ ) ) =
LLTI.'JU.IL\_.EI:L_I_._LJ.___.LA.n_l____l_._nJ__,:.i;‘:._a;tlr_s__L._:J____l_..J.L___L._n_l__m__lﬂuI]'T'_Ll
@4 40 :
2.373 \/
(Tl BOM Table
:::' (o) - _@_ - _@_ - _@ P ITEM NO.|PART NUMBER  |Rev. Description Material | Color | QTY.
L,_L @ - @ 1 WQ-425-03 - Hinged Nema Enclosure-Outdoor Use 1
T < | 1.1__| WQ-50L01 -0l LATCH ASSEMBLY - 2
1.2 | WQ-PIN-OI HINGE PIN - 2
',H“i‘ @ @ 1.3 | WQ-42B-02 BASE GFRI0O/PC| _GRAY 1
2754 | 1.4_| WQ-42C-03 COVER W/GASKET PC CLEAR 1
. i ®.115 2 |SCREWS-025-002 HARDWARE KIT 1
Hr“ﬁ TOP VIEW WITH COVER HIDDEN 2.1 SCREWS-025 M4X0.7 x 8mm CROSS TRUSS HEAD SCREW 2
b
[
==
|1l
- l_ﬂ = - =
4X @ .388 —
4X 138 8.646

WQ-42-03
UL LISTED: UL508-4X
SERVICE TEMP: -40°C to 95°C
FLAME RATING: 5VA

Outdoor Suitability: UL746C F1

118

S| —
4
'
I'n
i
i
i
'
5 =

SECTION A-A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: #-°
TWO PLACE DECIMAL: #-
THREE PLACE DECIMAL: #-
PRINTED GRAPHICS: #-
PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

POLYCASE. ANY REPRODUCTION IN PART

REV.] DESCRIPTION

[ZONE[ BY [APPRD] DATE

REVISIONS

CAD FILE: WQ-42

4

3

OR AS A WHOLE WITHOUT THE WRITTEN
PERMISSION OF POLYCASE IS PROHIBITED.

PART NO.
WQ-42
MATERIAL
1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.
. PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088
FLAME RATING SIZE = Hinged Nema Enclosure, REV
5VA QOutdoor Use, with screw Kit
NAME DATE C =

DRAWN | D.M.F. | 3/10/2021 .
CHECKED = C.C.B. 3/24/2020 SCALE: 1:2

2 1

SHEET 1 OF 1



	Sheet1
	Drawing View1
	Section View A-A
	Section View B-B
	Drawing View6
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View13
	Drawing View14


